四上 數學練習簿 第14回解答

第一大題：

(1) 45


(2) 629

(3) 392


(4) 392

(5) 6



(6) 6

(7) 15200


(8) 15200

第二大題：

(1)                   (2)                  (3)

(430－95)－215        (134＋97)－45        (384÷12)÷4

＝335－215           ＝231－45           ＝32÷4

＝120                ＝186               ＝8

答：120元            答：186顆          答：8人

(4)                   (5)                  (6)

(17×12)×5             500－(360＋100)      (1055－388)－316

＝204×5              ＝500－460          ＝667－316

＝1020               ＝40                ＝351

答：1020元          答：40元            答：352人

(7)                   (8)                  (9)

(288÷12)÷3            14×(12×8)            (360×3)＋(240×2)

＝24÷3               ＝14×96             ＝1080＋480

＝8                  ＝1344              ＝1560公分＝15.6公尺   

答：8顆             答：1344元          答：15.6公尺

(10)                  (11)                  (12)

(90－67)×15           (204÷12)＋39          133＋(12×21)

＝23×15              ＝17＋39             ＝133＋252

＝345                ＝56                 ＝385

答：345公分         答：56元             答：385公分

